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public class Test {
public static void main(String[] args){

int score =72;

if(score > 80){
System.out.print("A");

by

if(score > 70){
System.out.print("B");

by

if(score > 60){
System.out.print("C");

Yelse{
System.out.print("D");
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public class Test {
public static void main(String[] args){
int status=0;
String msg="1E%";

switch(status){
case I:
System.out.println("#:");

break;
case 2:
System.out.println(" FR¥EL");
break;
}
System.out.println("4 DIRFEE 1L "+ msg + ""TT");
}
}
EERL

7o TSORBIIIER T, LERRIND
4. T5DREIIETT ) ERRIND

7. TS ORBIZRELTY ), LRRIND
I aVNANITT—=IlkD

BIS.LLTF DY —2a—F2%f7%, av Y = VHMAICMPERINEDEZ S 0

public class Test {
public static void main(String[] args){
String[] data={"r","g","b"};
for(String s : data){
if(!(s.equals("g")){
System.out.print(s);
)



Blo. AT ZFIT L Ea vy — NI E) o LKIEBERI LD ?
FREBNIC X Z B0 A L 72 S o,

EXE)

public class Test {
public static void main(String[] args){
for(int row = 0;row<3;row++){
for(int col=0;col<3;col++){
if(row - col > 0){
System.out.print("*");
telse{
System.out.print("#");
}
}

System.out.println();
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public class Test {
public static void main(String[] args){
int[] data={1,2,3.4};
data[1]=data[3] / data[2];
System.out.println(java.util.Arrays.toString(data));



bt

FIS.LA T 1% -100 ~100Z ELECTRED IR LA L, 703 TH FCoREZRD % 7075
LTH D, Z2f%EHD X

public class Test {
public static void main(String[] args){
(@ int TARGET=7;

int count=0,num=0;

while(@){

count++;
num = new java.util.(3() .nextInt(@)-®);

by
System.out.println(count+" [ H {2 "+TARGET+"I& 1 £ L 72");
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public class Test {
public static void main(String[] args){
String[] en={"red","green","blue"};
String[] ja={"7R","#"," & "};

String[] data=new String[3];

for(int i=0;i<data.length;i++){
data[i]=en[i]+":"+jal[i];

}

System.out.println(data[data.length-2]);



